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RO101  H5fE%S A 29,400.00 0.769
RO102  #@EfE%s A 21,700.00 0.828
RO103  ®fF%8 A 18,100.00 0.851
RO104  |ET A 23,800.00 0.773
RO105 | #@T A 32,500.00 0.826
ROI06 ¢ OT A 30,000.00 0.860
RO107 BT A 32,100.00 0.858
RO108 7 0T A 30,000.00 0.835
RO109  BhF A 21,700.00 0.828
ROII0  |%mT A 32,100.00 0.872
ROIIL  %&T A 28,100.00 0.831
ROI12  |#%T A 26,500.00 0.824
RO113 AT A 29,200.00 0.842
RO114  EERE (%) A 32,900.00 0.778
ROIIS  B&F(—®) A 29,300.00 0.793
ROI16  BAAT A 39,500.00 0.861
RO117T | BhAfER A 49,200.00 0.718
ROII8  &<&T A 36,500.00 0.683
RO119  M/AMSHET A 44,300.00 0.931
RO120  bvanfExs A 32,700.00 0.888
RO121  hvanitsgia A 45,200.00 0.903
RO122  #8Y & 5HHT A 34,300.00 0.851
RO123 1BV & 5T A 38,600.00 0.855
RO124  18Y & 5tHEEi& A 43,800.00 0.818
RO125 | tA—ARtHEE A 33,200.00 0.775
RO126 &®ME A 33,100.00 0.720
RO127 | %BMAE A 26,500.00 0.737
RO128 |7kt A 54,200.00 0.807
RO129  ErkEiea A 35,500.00 0.887
RO130  #ErkEsa A 35,200.00 0.876
RO131  \LMMBT A 31,500.00 0.775
RO132  #ET A 39,200.00 0.823
RO133  EbH<T A 34,900.00 0.898
RO134 AT A 30,700.00 0.896
ROI35  EE A 32,200.00 0.835
RO136  |EET A 25,000.00 0.764
ROI37 oY A 29,800.00 0.830
RO138  BA7KT A 27,800.00 0.782
RO139  R&T A 29,300.00 0.799
RO140 40T A 24,200.00 0.963
ROLAL 4T A 31,300.00|  0.785
RO143  |WET A 27,600.00 0.861
RO144  # 5AT A 27,300.00 0.738
RO146 AT A MiER 0.851
RO14T 4 4bT A 24,100.00 0.720
RO148  {RET A 26,700.00 0.740
ROIS0  iMisEs A 33,200.00 0.775
RO153  SUYET(IER) AT 3120000 0.000
RO164  MHT A 29,200.00 0.842
RO201 BT A 25,400.00 0.706
R0202  BRBERME A 38800.00 |  0.640
R0203  BRBERE A 26,100.00 | 0.640
RO204  AIRHHTE () A 38,600.00 0.610
R0205 MRS (E) A 29,700.00 0.610
R0207 | EEESENES A 29,700.00 0.610
R0208 | SIBSB(ERiTE A 38800.00 |  0.640
R0209  SIBSBERITE A 26,100.00 | 0.640
RO301  RfBHT A 27.700.00 0.746
RO302  MWERGEEMET A 31,200.00|  0.000
RO303 MWERENT A 30,300.00 0.699
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RO307  HRMABET A 30,300.00 0.699
RO317  AREET A 30,300.00 0.699
RO401  BE-REE A 77,500.00 | 0.550
RO402 AL A 66,900.00 |  0.550
RO403  HEEA(A) A 59,600.00 |  0.550
RO404  HEA(B) A 48550000 0550
RO405  HEA(C) A 40,300.00 0550
RO406 B A 36,100.00 |  0.550
RO4OT | EfEhfiiE A 88,600.00 0550
RO409  WET(MT) A 34,900.00 0.550
RO456  HEA(D) A 36,100.00 |  0.550
ROS01 HLETIERER A 56,000.00 |  0.600
ROS02  TEmE@EES A 43.800.00  0.600
RO503  tEFES A 34100.00 | 0.600
RO602 | AIBE(LIRER A 60,600.00 |  0.550
RO603 IS A 52,300.00 |  0.550
ROG04 | AIBEE A 41,0000 0550
RO605S  EIEEHF A 34,900.00 0.550
ROGO7 R+ A 56,300.00 0.600
ROG0S | EfE+ A 4320000 0.600
ROG09 1B A 48,200.00 0.550
RO6L0  BEHF A 36,400.00 0.550
ROG612  HEmHAE A 28,700.00 0.650
RO613 | AIEALHRML A 38,300.00 0.550
ROS03  ZAHEEHEEA A 16,300.00 0.860
ROS04  HAFEEHEES A 14,100.00 0.908
R3004 AEE A 33,100.00 0.720
R3008  mikitzEd A 54,200.00 0.807
R3009 NIRRT Y A 2,854.00  0.000
R3010  SHRMEBEMTY A 2,854.00  0.000
R3011  E@MEBRMTY A 2336.00  0.000
R3013 BT (8- 16km) MEE - SHEME B 536.00  0.000
R3014  BEEME(S-16km) LEME B 48100 0.000
R3015 B4 (16-25km) MEE - BB E B 81800 0.000
R3016  RZEFE(16-25km) TEME B 71800 0.000
R3017 B E (25km<=) IEE - SRME B 1,081.00  0.000
R3018 %i@A%EHE(25kmblL) ZEME B 95400 0.000
R3019 By WEE SHME B 2,000.00  0.000
R3020 A% EEME B 1,545.00 0.000
R3023  mAR(ZHF) MEE SEME E 8,909.00  0.000
R3024  EAB(ZHAH) BEME E 7,090.00  0.000
R3026  =E A 77,500.00 | 0.550
R3027  REFE A 77,500.00 | 0.550
R3028 | rEYE A 35,200.00 0.876
R3038 | B BEXHA E W 0.000
R3039 B BEXSB E W 0.000
R3040 B BEXSC E W 0.000
R3044 BAE(ZH) BEX DA H HlBR 0.000
R3045 BAE(ZH) BEX DB H HlBR 0.000
R3046 BAE(ZHA) BEXSC H HlBR 0.000
R3047 THTE BEERE (308 ki) BREX A = EI1ES 0.000
R3048 HTE BEERE (308 ki) BEX 9B = EI1ES 0.000
R3049 HTE BEERE (308 ki) BREXHC = EI1ES 0.000
R3050  J#7EA%EHE(30~60R) BBXHA E W 0.000
R3051  &7EA%EHE(30~60R) BEX B E W 0.000
R3052 7L OEEHE (30~608) BiEX%C E W 0.000
R3053 THTE B EERE (0B UL E) BREX A H EI1ES 0.000
R3054 THIEAEERE (0B L L) BREX 9B H EI1ES 0.000
R3055 THTEAEERE (G0R L L) BREXHC H EI1ES 0.000
R3059  E7kKE(¥ 4n -) 10mkis A 52,700.00 | 0.000
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R3060 |7k (¥ 41 -) 10~20m3i A 57,700.00 0.000
R3061  |#7k(¥ 4 -) 20~30m3ki A 62,700.00 0.000
R3062 |7k (X 4 -) 30~40m3ki A 67,600.00 0.000
R3065 | H/KHBIE (R (1 -) 10mki A 52,700.00 | 0.000
R3066  E/KLWEIE (X 41 -) 10~20mkik A 57,700.00 |  0.000
R3067  E/KLWBIE X 41 -) 20~30mkiE A 62,700.00 | 0.000
R3068  E/KLWBIE (X 41 -) 30~40mkiE A 67,600.00 |  0.000
R3071 AAABSYfET A 20.800.00 | 0.000
RAMOL  EE-HEE SEZQIAE£T) E W 0,000
RAADZ | E{EHAT BEBQIAE £ T) E K 0.000
RAM03  HET(A) BHEZ(9AE £ T) E W 0,000
RAL0A  HE(B) BAEZ(9AE£T) E W 0,000
RAMO5  HE7(C) BAEZ(9AE£T) E W 0,000
RAAD6 BB WEZQIOEET) E W 0,000
RAAD7  EEHME BEE(IABEET) E W 0,000
RAMS6 (D) HEBRQIBEZT) E W 0,000
RA501 WERAERM HEERIBEXT) H EIIES 0.000
RA502 FEMERAES HEEQIBEET) = HlBR 0.000
RA503 WERAES HEEQIBEET) = HlBR 0.000
RA602 B2 XA HEERIBEXT) = HlBR 0.000
RA603 | AIEHET BEBQIAE £ T) E W% 0,000
RA604 BERENE HEEQIBE ) H EIIES 0.000
RAGOS  HIEEHT fE7E2(29BE £ T) E W% 0,000
RA6O7  Bfitt WEZQIBE £ T) E W& 0,000
RAGOS  HfE+ #EZ(9AE%T) E W& 0,000
RA609 | BEt WEZQIAEET) E W& 0,000
RA6I0 | BEBHhT BEf(QIBE £ T) E W% 0,000
RA612  AIE@EIE BEE(IAEZT) E W% 0,000
RA613 B MR HEERIBE X ©) = HlBR 0.000
RBAOL BB iR 2EZGIAE£T) E W% 0,000
RBA02 | EAEHMT BEBGIAET) E W% 0,000
RBA03  HE(A) BHEZGIRET) E W% 0,000
RBA04  HH(B) BAEZGIAEET) E W% 0,000
RBA05  HH(C) BAEZGIAE£T) E Wl 0,000
RBA06  HiE WEZGIOEET) E W& 0,000
RBAO7  EEH(E BEEGIAEET) E Wl 0,000
RB456 (D) HERGIHEZT) E Wl 0,000
RB501 WERAERM HEEGIRE £ T) H EIIES 0.000
RB502 FEMERAES HEEGIBEET) = HlBR 0.000
RB503 WERAES HEEGIHE ) = HlBR 0.000
RB602 B2 XA HEEGIRE T = HlBR 0.000
RB603 | AIEHET BEBGIAE £ T) E Wl 0,000
RB604 B EREE HEEGIRE £ T) H EIIES 0.000
RB605  HIEEHT E7E(59HE £ T) E Wl 0,000
RB607  fit+ WEBGIOEET) E W& 0,000
RB60S %+ #EZ(GIRE%T) E W& 0,000
RB609 It BEZGIOEET) E W& 0,000
RB6L0  BEBhE mu(59HE £ ) E Wl 0,000
RB612  AE@EE BEEGIAEZT) E Wl 0,000
RB613 B2 MRt HEEGIRE £ ) = HlBR 0.000
RC401 EE IR BEZE(608 BUUE) H EIIES 0.000
RC402 FERED HEE(G0R B L) = HlBR 0.000
RCA03  HEF(A) H7EZ(60R B LUE) E Wl 0,000
RCA04  H%H7(B) H7EZ(60R B LUE) E Wl 0,000
RCA05  HH7(C) H7EZ(60R B LU) E Wl 0,000
RC406 T8 HEE (608 B L) = HlBR 0.000
RC407 FERME HEEGOR B L) = HlBR 0.000
RCA56  $x7(D) HER (600 B A E Wl 0,000
RC501 HE AT HEE(G0R B L) H EIIES 0.000
RC502 FEMERAES HEEOGOE B LK) = HlBR 0.000
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RC503 WERAES HEEGOR B LU = HlBR 0.000
RC602 B8 EEHED HEE(60R B L) = HlBR 0.000
RC603 B IREN HEE (608 B L) = HlBR 0.000
RC604 B 2R e HEE (608 B L) H EIIES 0.000
RC605 BI2BhF HWEE(60R B L) = HlBR 0.000
RC607 i+ 7E% (608 B LA E W 0,000
RC608  #f&+ 7 (60 B L) E W 0,000
RC609 B+ 7E% (608 B L) E W 0,000
RC610 BEBTF HWEEGOR B L) = HlBR 0.000
RC612 B 2MENE HEE GO B L) = HlBR 0.000
RC613 B2 AR HEE (608 B L) = HlBR 0.000
RDAOL  BE- RS BY B B 0.000
RD402 EERED HY = HlBR 0.000
RD403 FER(A) BY = Hll & 0.000
RD404 FER(B) B = Hll & 0.000
RD405 FER(C) B = Hll & 0.000
RD406 g B = HlBR 0.000
RD407 FEREME B = HlBR 0.000
RD456 FER(D) B = Hll & 0.000
RD501 M ETEem A Y B B 0.000
RD502  iF#wEHEE AY E B 0.000
RD503  #EAES B X B B 0.000
RD602 BISEFEED BHY = HlBR 0.000
RD603 BISFED HH = HlBR 0.000
RD604 BIS e B = HlBR 0.000
RD605 BISEhF HY = HlBR 0.000
RD607 IR+ AN E B 0.000
RD608  %fE+ B E B 0.000
RD609 8%+ B E B 0.000
RD610 BT BHY = HlBR 0.000
RD612 | AIBHENE Y B B 0.000
RD613 BISMiRitt B = HlBR 0.000
RE401 EE-FER BAs2 A EI1ES 0.000
RE402 EXESSTIRENEL Y = EI1ES 0.000
RE403 EN(A) IBREZ = EI1ES 0.000
RE404 ER(B) AR S = EI1ES 0.000
RE405 ER(C) IBRRle = EI1ES 0.000
RE406 g masas = EI1ES 0.000
RE407 FERIE FARS = EI1ES 0.000
RE456 EN(D) EAKZ = EI1ES 0.000
RE501 WERERE BAND = EI1ES 0.000
RE502 FEMERES BERS = EI1ES 0.000
RE503 WEHRAETE FaKs = EI1ES 0.000
RE602 BIS EEEED BmARS = EI1ES 0.000
RE603 BISEED BmRARlZ = EI1ES 0.000
RE604 BIS R BaRZ = EI1ES 0.000
RE605 BISEBhF BERRZ = EI1ES 0.000
RE607 Bt mare A EI1ES 0.000
RE608 g+ mare A EI1ES 0.000
RE609 bi->3= O i =H =P S V) = EI1ES 0.000
RE610 BEBF BRI = EI1ES 0.000
RE612 RHERMBNE FAKS = EI1ES 0.000
RE613 B Mgt masle = EI1ES 0.000




